4

=T Y
{

Pp
Pp




63-75-90-110-130

4 Fori / Holes / Bohrungen 4 Fori / Holes / Bohrungen 8 Fori / Holes / Bohrungen
b2 be

Albero uscita cavo ) 'l: g- Me —3[ ﬁg:rm&::;m ta

Output hollow shaft 7 b

Abtriebshohiwelle -

Dz de

X|A|a|B|b|Hh bs c | % D, E| f (S | H |H W | b 6 K| K
3 (80 |54 |56 |44 | 3 | 6 | — (315 9 (14 | — |40 |65 | 65 | 97 | 40 | 67 | 71 | 27 | 44
4 (105 70 | 71 |60 | a4 | 6 | 6 |30 |11 |18 | 19 |50 |65 |60 [125] 50 | 75 | 90 | 35 | 85
50 (125 |80 |85 | 70 | 5 | 8 | 8 | 46 | 14 | 25 | 24 | 60 | 85 | 70 | 150 | 60 | 90 | 104 | 40 | 64
63 | 147 [100 103 |85 | 6 | 8 | — |56 |19 |25 | — |72 | 9 |80 [182] 72 110 | 130 | 50 | 80
75 (176 (120 (112 | 90 | 8 | 8 | 8 | 60 | 24 | 28 | 30 | 86 | 11 | 95 2195 86 1335 153 | 60 | 93
90 203|140 | 130 (100 | 8 | 10 | — | 70 | 24 | 35 | — | 103 | 13 | 110 |2485| 103 |1455| 172 | 70 | 102
110 (2525 170 | 143 (115 | 8 | 12 | — |77.5| 28 | 42 | — [127.5) 14 | 130 |310.5/127.5 183 | 210 | 85 | 125
130 [292.5) 200 | 155 [ 120 | 10 | 14 | 14 | 85 | 38 | 48 | 45 |147.5) 15 | 180 | 355 |147.5/207.5| 240 | 100 | 140
X| 1 | K | Kk L | M | ™M | M | N|P | R |R| S |t ts b
30 | 31.5 | §7 15 | M6xB |M4x10|M5x7.5) 445 | 20 | 65 | 354 | 55 | 102 | 163 | — | 15
40| 40 | 75 20 |M6EX10|M4X12|MEX10| 575 | 365 | 75 | 424 | 6 | 125 | 208 | 218 | 15
50 | 50 | 82 |vedipag.| 25 |MB8x10 M5x13|Mex10| 675 | 435 | 85 | 537 | 7 | 18 | 283 | 273 | 15
83 | 83 | 95 |gorea| 30 |Mexi4|Mex20|mex12| 775 | 53 | 95 |68 | B8 | 215|283 | — | 2
75 | 75 | 112 | 32 | 40 |Mex14 | M8x20|MBx12| 85 | 57 | 115 | 707 | 10 | 27 | 313 | 333 | 2
% [ o0 | 122 40 |M10x18/M8x20|MBx14| 105 | 67 | 130 | 707 | 12 | 27 |33 | — | 2
110 | 110 | 153 50 |M10x18Mex20 M10x18| 130 | 74 | 165 | 860 | 14 | 31 [453 | — | 25
130 | 130 | 173 70 [M12x20M10x25M10x16] 152 | 81 | 215 | 104 | 15 | 41 | 488 | 518 | 3




BeixoaHoR chnaHey,

Vista da A/ View from A / Anslcht von A

a0
z F1
\—’I—"—U =
A r
%4
p M; e o i @ 40 | 50
][ ® I[: F1 | Fi1
|| F2 | —
Al -
\.!J — —
I — r
Q
P
83 | 75
F1 | F1
F2 | —
b — | —
20 (110130
—|F1]|F1
Tipo Lol G
= | clolgl*|"|®"
(o]
F1 88 ) 545 23
30 F2 Nns
F3
F1 85 80 87 28 75980 4 n" 4 9 8
40 F2 39 85 60 97 58 75-90 4 n" 4 8 B
F3 140 95 80 41 15 5 n"7 2 10
F1 84 70 80 44 85-100 5 n" 4 11 10
50 F2 48 160 110 89 43 130 5 n°7 11 11
Fa
F1 142 115 82 25 150 5 n" 4 11 11
63 F2 56 142 115 12 56 150 5 N4 1 11
F3 160 110 80.5 245 130 5 n 4 1 12
F1 160 130 111 51 185 5 n" 4 13 12
75 F2 80 160 110 80 a0 130 B n"4 1" 13
F3
F1 200 152 1M 41 175 5 n' 4 13 12
90 F2 70 200 152 151 # 175 5 n* 4 13 13
F3 200 130 10 40 185 8 n* 4 1 1
Fi 260 170 131 53.5 230 B h° 8 13 15
110 F2 775 250 180 150 725 215 5 n'4 15 18
F3
F1 320 180 255
130  F2 85 300 230 10 86 265 ¥ n"8 ¥ 18 18
F3

* Foratura ruotata di 22.5°

* Drilling tumed of 22.5°

¥ Durchbohrung 22 5° versetzt




BxoaHoli naHey

|

G1
R1
Y

U1

i

Z1

PM Diametro fori PAM { Holes diameter JEC { IEC Durchmesser
G,

XC| EC | Jylz| R U4 @ d Y |% 75|10 |15 |20 |25 |30 |40 | 50 | 65 | 80 |100
585 80~ |100] 4|7 3 8|99 9|9 |99 9|9 9 909
a0 [BEW (60|~ [-[ 65 [35 6 8 8 | 8|99 9|9 999 99 99
63 B5 95|+ 115 4 | 9 8 190 8 [ M | M |1 M |1 |1 |1 |17 |7 |7
8314 |60|-|-| 75 | 4 | 6 8 90 [8 M M M [N M M [N w771
5685 80 -] 100] &7 3 209 7 /17 71717799909
56B14 50| |-| 65 |35 6 8 |8 |/ [/ [T /77799 99
40 [©225 95|+ 115 4 | 9 3 140 9 (M M |1 M 1|1 [ 1|1 1 |1n|n
83814 60| |-| 75 |35 6 9 [ 8 M | N M N |1 M1 """
7185 110~ |~ [ 130 [45] O 3 160 [ 10 | 14 | 14 [ 14 |14 |14 |14 [14 [ 7 [ 7 [ |/
71814 70|~ || 8 35| 7 8 105 8 |14 |14 [14 |14 |14 |14 [1& [ 7 [ 7 [ T |/

B3 85 95|+ |-|115] 4 | 9 3 40 9 [/ |7 7 [ [ /7 M1 [ 1n[n
83814 60| |-| 75 |35 8 9 | 8|/ |/ |/ |/ |/ [/ [nnninn
50 [71E8 110 - |~ [ 130 [45] 9 3 160 | 10 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14
71814 |70] || 8 35| 7 105 | 8 | 14 | 14 |14 | 14 | 14 | 14 |14 | 14 | 14 | 14 | 14
50 B5 130] < |+ | 165 [45| 11 3 200 (10 |19 |19 (19 [1® |19 (1918 7 [ |7 |/
B0B14 80|~ || 100 | 4 | 7 8 120 (10 |19 |19 (19 [19 |19 (19 [0 7 | 7 | 7 |/
7185 110 - |~ | 130 [45] O 3 180 (10 7 | 7 | 7 [ 7 [ 7 |7 (1414 14 [14 |14
71814 70| || 85 35| 7 0510 7/ | /7 | 7 |7 |7 |7 [1a4 14 |14 |14 | 14
63 (8 130] < |+ | 165 [45] 11 3 200 [ 10 | 19 |19 |19 [ 19 |19 |19 |19 |19 |19 | 19 | 19
80B14 80| |~|100 | 4 | 7 120 (10 [ 19 | 19 [19 |19 [ 19 |19 |19 |19 |19 [ 19 | 19
90 B5 130] < |+ | 165 [45| 11 3 200 | 10 | 24 | 24 |24 |24 |24 (24 | 1 [/ [ 1 |1 ||
o0B14 95|+ || 15| 4 |85 3 140 |10 | 24 | 24 |24 |24 |24 |24 | 7 | 7 [ 7 | 7T |/

80 B5 130] < [~ | 165 [45] 11 8 200 (10 7 [ 7 [/ [ 7 17 [ 7 [19 191919 19
80B14 80| |-|100 | 4 | 7 120 1| 7 |7 [ 7 [ 7771919 19]19]19
75 [%085 130] < [+ | 165 [45| 11 3 200 | 10 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
20814 |95] |- |15 4 | 9 140 | 11 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
10011285 [180] « | - | 215 | 5 | 14 3 250 |13 | 28 | 28 |28 |28 |28 |28 | / |/ | [ | 1 |/
100112 814 [ 110] + | = | 130 [45] 9 8 160 | 11 | 28 | 28 |28 |28 (28 28 | / | / | 7 [ [ |/
B0B5 130 < [+ | 165 [45] 11 3 200 (10 / [/ [/ [/ 17 1|/ /191919
80B14 80| |- |100 | 4 | 7 120 1| 7/ |/ |7 |77 77 [19[19]19
g0 (%85 130] < |+ | 165 [45| 11 3 200 | 10 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
90814 95| |- 15| 4|9 140 | 11 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
10011285 [180] « |+ | 215 | 5 | 14 3 250 | 13 | 28 | 28 |28 |28 |28 |28 | 7 |/ | [ | 7 | |
100112 814 | 110] + | = | 130 [45] 9 3 160 | 11 | 28 | 28 |28 |28 (28 28 | / | [ | [ [ [ |/
%085 130] <] | 165] 5 |1 4 200 (12| 7 [/ |/ [/ |7 [ 1 |24 7 |24 24 2a
%0814 95| |+| 15|59 140 (12 | 7/ | 7 | 7 [ 1 [ 7 |7 |24 7 |24 |24 24
190 10011285 180 | 215 5 |14 4 250 | 14 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
100112814 |110] |~ 130 5] 9 160 | 12 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
132B5  [230| - | | 265| 5 |14 4 300 | 14 | 38 | 38 |38 |38 |38 (38 | / | [/ | [/ |/ |/
152814 [130 | | 1685 5 | M 4 200 | 12 | 38 | 38 |38 |38 |38 |38 | / |/ | 7 |/ |/

90 B5 130~ | [165] 5 | 1 4 200 (12| 7 [ 7 | 7 [ 7 |7 [ 1 [ 7 |7 [242a 24
ooB14 95| |- 15|59 40 (12 [ 7 | 7 [ 7 [ 7 [T [ 7 [ 7 [ F 242424
430 190011285 [180] ~ | 215 | 5 |14 4 250 | 14 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
100112814 |110] |- 130 5| 9 160 | 12 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
132B5  [230| - | | 265| 5 | 14 4 300 | 14 | 38 | 38 |38 |38 |38 |38 |38 | / | [/ |/ | /
132814 (130 | [ 165 5 | 1 4 200 |12 | 38 | 38 |38 |38 |38 |38 (38 | / [ 7 | [ |/




